
Pinking Shears

Base Value: 2; Worth 6 points in the Lilac Room

“This looks like an algebra problem,” you tell Dr Lucky.

“Ooh! I love algebra!” Dr Lucky exclaims. “Did you know that the multiplicative group of any
field is cyclic? Let’s say you have a field with 27 elements—there are fields of any prime-power size,
you know, so there’s a field with 33 = 27 elements, and so the 26 non-zero elements make up the
multiplicative group, and it’s cyclic! So, let’s say A is a root of x3 − x + 1; then A is a generator
of this cyclic group...”

At this point Dr Lucky loses you, as his absent-minded mathematical brain wanders from topic to
topic, and you look back at the puzzle:
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α+ Y τ = A (16)
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